
DELTA PREMIUM 2322
Serviceteile

Produktbild Position Beschreibung Artikelnummer Menge

1 ZUGFEDER 7x40x350 0230103100 1

1.1 RILLENKUGELLAGER 1000000373 1

1.2 SPANNHÜLSE 8x20 0706057028 1

2 ZUGFEDER 4x36x281 0240324300 1

2.1 ROLLE 0230124189 2

2.2 SKT.-SCHRAUBE M6x12-8.8 0700831250 2

2.3 SICH.-SCHEIBE 6,5x10,8x1,8 0701407905 2

2.4 KOTFL.-SCHEIBE 6,4X30X1,5 0700831172 2

3 ACHSE 0230106027 1

3.1 SCHEIBE 0004503014 2

3.2 SKT.-MUTTER M16x1,5-8 0701114042 2

4 ACHSE 0230107027 1

4.1 DISTANZROHR 0230107029 2

4.2 SKT.-MUTTER M20x2-8 0701114162 2

4.3 KOLBENSTANGENAUGENGRUPPE 0230108015 1

Stand: 06/2023

Dokumentation

Tel.: +49 (0) 6131 887-0

E-Mail: info@zoeller-kipper.de www.zoeller-kipper.de



DELTA PREMIUM 2322
Serviceteile

Produktbild Position Beschreibung Artikelnummer Menge

5 HYDR.-ZYLINDER 0230108005 1

5.1 ZYLINDERBOLZEN 30f7x175 0230106038 1

5.2 SCHEIBE 0007100010 2

5.3 SPANNSTIFT 8x40 0701270840 1

5.4 ACHSE 0230107027 1

5.5 DISTANZROHR 0230107029 2

5.6 SKT.-MUTTER M20x2-8 0701114162 2

6 SCHRANKE ZWS 0230124005 1

6.1 DISTANZSTÜCK 0230124087 2

6.2 ZYL.-SCHRAUBE M6x50 0700860390 3

6.3 HUTMUTTER M6 0701121220 3

7 UVV-SCHUTZPLATTE 0230124078 1

7.1 AUFKLEBER - D 100 mm 0230000067 2

7.2 AUFKLEBER - D 100 mm 0230000068 2

7.3 LINSENSCHR. M6x16 0700933070 4

7.4 SCHEIBE 6,4x18x1,6 0701329041 4

8 DREHFEDER 0230107577 1

8.1 DREHFEDER 0230107578 1

8.2 ACHSE LG. 0230107404 1

8.3 LINSENSCHR. M6x12 0700975014 2

Stand: 06/2023

Dokumentation

Tel.: +49 (0) 6131 887-0

E-Mail: info@zoeller-kipper.de www.zoeller-kipper.de



DELTA PREMIUM 2322
Serviceteile

Produktbild Position Beschreibung Artikelnummer Menge

9 DREHFEDER 0230107578 1

9.1 DREHFEDER 0230107577 1

9.2 ACHSE LG. 0230107404 1

9.3 LINSENSCHR. M6x12 0700975014 2

10 WINKELGEB.308°,KMPKT/2 KAN.24V 0706089288 1

10.1 ZYL.-SCHR. M6x50-8.8 0700870236 2

10.2 ZAHNSCHEIBE J 6,4 0701385090 2

10.3 STEUERSTANGE 0230106044 1

10.4 SPRITZSCHUTZ 1000001257 1

11 WINKELGEB.308°,KMPKT/2 KAN.24V 0706089277 1

11.1 ZYL.-SCHRAUBE M4x12 0700850135 1

11.2 SENKSCHR. M4x10-10.9 0700923071 2

11.3 FEDERSPANNSTIFT S D3xL15 0701271006 1

12 SICHERHEITS-WINKELGEBER 2X220° 0000034040 1

12.1 TORX-SENKSCHR. 5X12-10.9 EC00765232 2

12.2 SCHRAUBENROSETTE 5,3X12,7X3,4 EC00765217 2

12.3 LINSENSCHR. M6x12-10.9 0700933085 4

12.4 SICH.-SCHEIBE 6,5x10,8x1,8 0701407905 4

Stand: 06/2023

Dokumentation

Tel.: +49 (0) 6131 887-0

E-Mail: info@zoeller-kipper.de www.zoeller-kipper.de



DELTA PREMIUM 2322
Serviceteile

Produktbild Position Beschreibung Artikelnummer Menge

13 SICHERHEITS-WINKELGEBER 2X220° 0000034040 1

13.1 MAGNETTRÄGER 0231806011 1

13.2 ZYL.-SCHRAUBE M4x12-8.8 0700850140 2

13.3 FEDERSPANNSTIFT S D3xL15 0701271006 1

13.4 SICH.-SCHEIBE 6,5x10,8x1,8 0701407905 4

13.5 LINSENSCHR. M6x20-8.8 0700933088 4

Wir freuen uns auf 

Ihre Kontaktanfrage! 

Besuchen Sie uns auf: 

Webshop

Jobportal 

Website

Linkedin 

XING

Kununu

Facebook

ZÖLLER-KIPPER GmbH | Hans-Zöller-Straße 50-68 | D-55130 Mainz

Stand: 06/2023

Dokumentation

Tel.: +49 (0) 6131 887-0

E-Mail: info@zoeller-kipper.de www.zoeller-kipper.de

https://webshop.zoeller-group.com/shop/app?__bk_&__windowid=GWS440104547&__rid=UXM1686659951688#2VFB2144C915D47DFAD66CC73CEC1F7E1779EB9C5DDC5AEBE31AFB0AE8047F27164BEDCC79D7D8315FF6CD3275645B27779CBADCA3F931FF5AF43F1D2F1FA9ECD3
https://jobs.zoeller-kipper.de/de
http://www.zoeller-kipper.de/
https://www.linkedin.com/company/zoellerkipper/
https://www.xing.com/pages/zoller-kippergmbh
https://www.kununu.com/de/zoeller-kipper2
https://www.facebook.com/zoeller.kipper

